-2

-~ SIBe
AR Hx)e &
—

UM B s L7

x-3

N0 )= exr2
Xy 2
7 21% o] NV I B x 2D WA,
6 1k 3%
2N A | e s [
. Xt-x-2
A B
_N2\2 yd
5 FCX) -xZ 4x42
A8 & Ty = Uogft:ilﬂ
X 5=\
\§ol0% & FLX) =) (XZ‘A‘}
4 -x2

902290 Bx): Bx-Nxzg
1803088 {oo- -5><4\Jx2-_6?
> R 5= Lo A=
186084 Fo = log(d2)
~ 5603 B {j@):wg Xy

285703 b Hx) = é‘—:
XQO%S 6 RX): ~)Qc_:
ABA095 A fixy = W= x2

x—1
Ox?_9x-2

A§ 4025 6 Hx)=
| X2

d FoMalE

18W30 12 Hx) =
BNnFo D «Qx):—%i

O x2
3-x

€130 B Fpos X2
X

A+ X2
xXr3

~X
olYe ' : 0\ s
15 1205{ Q C()Ja _X/:\\
Agren 8 Feos
Mono & feis &

240110 &5 £ - %"
/80403 & t6) = x- J?} ‘
13 0% B Gy a x|

90528 B Fxy- % ‘
R oK B Fp-

190902 A Fx)- &5z

R
Atx2

er-3

Fle &




